# FALL 2018 Timber Sale Bid Summary for Florence County Forest \* Shaded Area Indicates High Bidder

East Range				Scale Sale	1	Advertised #	1			Attendees: Pat Smith
	Contract L		21 Acres 2 years		Time & Da	te of Opening: Location:	Ed Kelley Henry Sullivan Mary Podnar Andy Nault			
			MINI	MUM BID	F	ranks	Sha	amco	Mir	erick
Products	Volume		Bid	Value	Bid	Value	Bid	Value	Bid	Value
Red Pine Pulp	150	CDS	\$34.00	\$5,100.00	\$67.60	\$10,140.00	\$62.10	\$9,315.00	\$50.00	\$7,500.00
Spruce Piulp	145	CDS	\$17.00	\$2,465.00	\$31.30	\$4,538.50	\$42.00	\$6,090.00	\$35.00	\$5,075.00
Aspen Pulp	75	CDS	\$29.80	\$2,235.00	\$32.00	\$2,400.00	\$45.70	\$3,427.50	\$36.00	\$2,700.00
Tamarack Pulp	60	CDS	\$17.00	\$1,020.00	\$28.00	\$1,680.00	\$42.00	\$2,520.00	\$32.00	\$1,920.00
Jack Pine Pulp	25	CDS	\$25.50	\$637.50	\$34.50	\$862.50	\$45.70	\$1,142.50	\$35.00	\$875.00
Mixed Hdwd Pulp	5	CDS	\$25.50	\$127.50	\$30.00	\$150.00	\$28.15	\$140.75	\$35.00	\$175.00
Fir Pulp	5	CDS	\$17.00	\$85.00	\$13.00	\$65.00	\$20.15	\$100.75	\$28.00	\$140.00
	465	CDS		\$11,670.00	Total	\$19,836.00	Total	\$22,736.50	Total	\$18,385.00
TOTAL										

Products	Volume		Bid	Value	Bid	Value	Bid	Value	Bid	Value
Red Pine Pulp	150	CDS	\$0.00	\$0.00		\$0.00		\$0.00		\$0.00
Spruce Piulp	145	CDS	\$0.00	\$0.00		\$0.00		\$0.00		\$0.00
Aspen Pulp	75	CDS	\$0.00	\$0.00		\$0.00				\$0.00
Tamarack Pulp	60	CDS	\$0.00	\$0.00		\$0.00				\$0.00
Jack Pine Pulp	25	CDS	\$0.00	\$0.00		\$0.00				\$0.00
Mixed Hdwd Pulp	5	CDS	\$0.00	\$0.00		\$0.00		\$0.00		\$0.00
Fir Pulp	5	CDS	\$0.00	\$0.00		\$0.00		\$0.00		\$0.00
TOTAL	465	CDS	Total	\$0.00	Total	\$0.00	Total	\$0.00	Total	\$0.00
			10% =	\$0.00	10% =	\$0.00	10% =	\$0.00	10% =	\$0.00

## FALL 2018 Timber Sale Bid Summary for Florence County Forest \* Shaded Area Indicates High Bidder

**Truman Show** 

Scale Sale

Advertised # 2

#### Attendees:

Pat Smith Ed Kelley Henry Sullivan Mary Podnar Andy Nault

Size: 195 acres Contract Length: 3 year

Time & Date of Opening: 9:00AM 10/10/2018 Location: Florence Resource Center 5617 Forestry Drive Florence, WI 54121

			MINIM	IUM BID	Sh	amco	Fi	ranks		
Products	Volu	ıme	Bid	Value	Bid	Value		Value	Bid	Value
Mixed Hdwd Pulp	1250	CDS	\$19.40	\$24,250.00	\$25.10	\$31,375.00	\$33.10	\$41,375.00		\$0.00
Basswood Pulp	390	CDS	\$11.40	\$4,446.00	\$10.10	\$3,939.00	\$9.10	\$3,549.00		\$0.00
Aspen Pulp	380	CDS	\$23.20	\$8,816.00	\$40.01	\$15,203.80	\$38.80	\$14,744.00		\$0.00
Fir Pulp	270	CDS	\$11.90	\$3,213.00	\$20.15	\$5,440.50	\$16.50	\$4,455.00		\$0.00
Red Oak Pulp	230	CDS	\$20.10	\$4,623.00	\$20.15	\$4,634.50	\$40.00	\$9,200.00		\$0.00
Spruce Pulp	10	CDS	\$16.30	\$163.00	\$32.10	\$321.00	\$25.00	\$250.00		\$0.00
Mixed Hdwd Logs	29	MBF	\$213.00	\$6,177.00	\$200.00	\$5.800.00	\$242.00	\$7.018.00		\$0.00
Basswood Logs	58.5	MBF	\$131.00	\$7,663.50	\$200.00	\$11,700.00	\$160.00	\$9,360.00		\$0.00
Red Oak Logs	58.5	MBF	\$201.00	\$11,758.50	\$200.00	\$11,700.00	\$225.00	\$13,162.50		\$0.00
TOTAL	2530	CDS	Total	\$71,110.00	Total	\$90,113.80	Total	\$103,113.50	Total	\$0.00
	146	MBF			10% =	\$ 9,011.38	10% =	\$ 10,311.35	10% =	\$ -
Products	Volu		Bid	Value	Bid	Value		Value	Bid	Value
Mixed Hdwd Pulp	1250	CDS	ый	\$0.00	ый			\$0.00	ый	
		CDS		\$0.00		\$0.00		+		\$0.00
Basswood Pulp Aspen Pulp	390 380					\$0.00		\$0.00		\$0.00
						¢0.00		¢0.00		¢0.00
		CDS		\$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00
Fir Pulp	270	CDS		\$0.00		\$0.00		\$0.00		\$0.00
Fir Pulp Red Oak Pulp	270 230	CDS CDS		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00
Fir Pulp Red Oak Pulp	270	CDS		\$0.00		\$0.00		\$0.00		\$0.00
Fir Pulp	270 230	CDS CDS		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00
Fir Pulp Red Oak Pulp Spruce Pulp	270 230 10	CDS CDS CDS		\$0.00 \$0.00 \$0.00		\$0.00 \$0.00 \$0.00		\$0.00 \$0.00 \$0.00		\$0.00 \$0.00 \$0.00
Fir Pulp Red Oak Pulp Spruce Pulp Mixed Hdwd Logs Basswood Logs	270 230 10 29	CDS CDS CDS MBF		\$0.00 \$0.00 \$0.00 \$0.00		\$0.00 \$0.00 \$0.00 \$0.00		\$0.00 \$0.00 \$0.00 \$0.00		\$0.00 \$0.00 \$0.00 \$0.00
Fir Pulp Red Oak Pulp Spruce Pulp Mixed Hdwd Logs	270 230 10 29 58.5	CDS CDS CDS MBF MBF	Total	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Total	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Total	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Total	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00

#### FALL 2018 Timber Sale Bid Summary for Florence County Forest

\* Shaded Area Indicates High Bidder

LITTLE MAN Lump Sum Size: 60 Acres Contract Length: 2 year						Advertised # 3 Time & Date of Opening: 9:00AM 10/10/2018 Location: Florence Resource Center 5617 Forestry Drive Florence, WI 54121						Attendees: Pat Smith Ed Kelley Henry Sullivan Mary Podnar Andy Nault	
			M	INIMUM BID		Era	nks		Cho	mco			Logging
			14			FIG	iiik5		3114	inco		J. Galey	Logging
Products	Volum	ne	Bid	Value		Bid	Value		5114	Value		J. Caley	Value
Products ASPEN PULP	Volum 1390	ne CDS	Bid	-	\$	-		\$	49.15		\$	42.17	00 0
			Bid \$ 29	Value	\$	Bid	Value	\$ \$		Value	\$		Value
ASPEN PULP	1390	CDS	Bid \$ 29 \$ 25	Value 80 \$41,422.00	· ·	Bid 31.10	Value \$43,229.00		49.15	Value \$68,318.50	•	42.17	Value \$58,616.30
ASPEN PULP MIXED HDWD PULP	1390 170	CDS CDS	Bid \$ 29 \$ 25 \$ 17	Value 80 \$41,422.00 50 \$4,335.00	\$	Bid 31.10 28.50	Value \$43,229.00 \$4,845.00	\$	49.15 30.10	Value \$68,318.50 \$5,117.00	\$	42.17 16.55	Value \$58,616.30 \$2,813.50 \$665.00
ASPEN PULP MIXED HDWD PULP FIR PULP	1390 170 50	CDS CDS CDS	Bid \$ 29 \$ 25 \$ 17	Value           80         \$41,422.00           50         \$4,335.00           00         \$850.00           50         \$382.50	\$ \$	Bid 31.10 28.50 14.00	Value \$43,229.00 \$4,845.00 \$700.00	\$ \$	49.15 30.10 20.15	Value \$68,318.50 \$5,117.00 \$1,007.50	\$ \$	42.17 16.55 13.30	Value \$58,616.30 \$2,813.50 \$665.00

			Wild	Rivers	Min	erick				
Products	Volun	ne	Bid	Value	Bid	Value		Value		Value
ASPEN PULP	1390	CDS	\$ 43.17	\$60,006.30	\$ 48.24	\$67,053.60		\$0.00		\$0.00
MIXED HDWD PULP	170	CDS	\$ 34.37	\$5,842.90	\$ 31.50	\$5,355.00		\$0.00		\$0.00
FIR PULP	50	CDS	\$ 23.77	\$1,188.50	\$ 29.30	\$1,465.00		\$0.00		\$0.00
OAK PULP	15	CDS	\$ 28.17	\$422.55	\$ 31.50	\$472.50		\$0.00		\$0.00
Totals	1625	CDS	Total	\$67,460.25	Total	\$74,346.10	Total	\$0.00	Total	\$0.00
			10% =	\$6,746.03	10% =	\$7,434.61	10% =	\$0.00	10% =	\$0.00

### 2018 FALL TIMBER SALES - FLORENCE COUNTY

Sale # Sale Name		Contractor	Mi	nimum Bid	High Bid		
1	East Range	SHAMCO	\$	11,670.00	\$	22,736.50	
2	Truman Show	FRANKS LOGGING	\$	71,110.00	\$	103,113.50	
3	Little Man	SHAMCO	\$	46,989.50	\$	74,820.25	
Total			\$	129,769.50	\$	200,670.25	